10 Lottt 70. If the different permutations of all the letter of

v 008 the word EXKMINATION are listed as in a
A____ —_—— __'2 6 dictionary, how many words are there in this

IfE eq EXAMINATION & T3t 37aRT @ oot
?.|2| X bR RffeT FHTAT N qsgdy HA @
" = 907200 mﬂaaﬁrﬁmm%a’rE#maﬁ
qI YUH reg F qF e ersg §7
£ /fgonoo b) 453600
B c) 388800 d) 777600

list before the first word starting with E ?
|}>4ax TR 8~ g

PnC (dictionary) | | !



7/, If all the words, with or without meaning,
A ooy _ 24 which can be, made using all the letters of
-— " the word AGAIN are written as in a

l dicti hat will be the 50¢h word?
G --=d. 2hys  dgmameei e
o &, ST AGAIK sg & weft 3rary T
I__ _ v 12 3TN FWE §AT o FEQ §, UH
21 YeEHT F T F AW v §, @ 50a
L S 1 Ueg FIT EHI?
NARGT «————uah  a)naaal XGAN
NAATG < ¥, AINAAIG
& S\ c) NAIAG PYXA IN.

d) NAIGA A E] AKN

PnC (dictionary) | | 2



A = Ul =24
=‘4£ = Z
%\“""'EI | g
K ___=41 _ 12
2]

NAAGK <—uq
NAAKG ~—=®
NAGAK

PnC (dictionary)

72.Using all the letters K, N, A, G and A,
5 letter words are made (with or
without meaning). If these words
are arranged as in a dictionary, the
word NAAKG will appear at what
place?

K, N, A, G 3ilx A @aft 37aRY &1 39T
Wssfmmaﬁ(sfﬂ'qﬁmﬁm
3rdiqel) sae I 7] Il 5T el F
3W W # cgafedd T v o w0
H 3 sy H g &, aY NAAKG 2Usg
e Tue W Ra m?
50  b)a9 c) 47 d) 46
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3men ond 4 womem 73, From a group of 5 men and 7 women,
in how many ways we can(selecp 3

men and 4 women?

3 X
<:3 4 5 geut AR 7 At F uw
WE ¥, §H fhad als ¥ 3
s la ol 3R 4 ARRETET FToTHT W
=L, % %3 &
50 b) 525
) 450 d) 420

10 ‘%

w

= 10x%5 =350

()

_.l
=
R
)
cﬁ“

PnC (combi) | | 4



74.In how many ways we can form

W m a committee of 5 members from
- 5 men and 5 women in such a
SCS % 5Co = Ix]= , way that more women are
+ selected than men?
S a] 5 g fhaa alst @ 5 gl
'#5¢, x C; = %525 msmmﬁﬁsmw’r
“ # e WAy o wFS ¥
5, - A g + A Test i geen # wftw
1 SC X Clzlbxlo-_l(ﬂ) maﬁa;ra'q&?
3 2 a) 125 126
S c) 100 d) 101

PnC (combi) | | 5



75. In how many ways a basketball team
b 9’ (comprised of 6 players) can be

5C = [0x5=50 formed from 5 boys and 5 girls such
SC X Ly
that(atmost 2 bostare selected?

5 - &P 5 oSl AR 5 osfhAl & TH
5, x G5 = 1= mm(mﬁemg)
&

55 Bl v oo o
a1t | aifes Q@ sits 2
gﬁaﬁ?

a) 50 b) 5
c) 56 55

PnC (combi) | | 6



76. In how many ways can we form a
(3
© bt bLE) cricket team of 11 players out of 8

8(_{ X 664 = 8)"5 =129 batsmen and 6 bowlers such thati
most 4 bowlers are to be selected?
8c X &, =1x20=3° FTH 8 seaars AR 6 deare # A
8 5 o 11 RerRE # w feee
fFdar dF a1 Fa &, TIfF
SgET § ST 4 dedrst g S?
140 b) 120
c) 20 d) none

PnC (combi) | | 7



z 5 B’é_l 77 Among 18 members of a cricket

=“2xlox3.30

2c  x
<

He = 2x1xu6 2
? C X

3
IXI0xflyg 660D

club, there are 2 wicketkeepers and
5 bowlers. In how many ways can a
team of 11 players be selected to
include only one of the
wicketkeeper and (at least three
bowlers?

Th fhdhe Fad9 &§ 18 WeEdl #H 2
¥y 3k 5 dcaer & Frdehat
A A haa Th F IR FA T F
dearsr # AT T F AT 11
ezt f1 &7 = Faa Tt @

. TAT ST GFHAT 872
M\Q(X,t “1?\2 0 a) 7524 b) 11682
+424 |l\(4—63§(2‘{/12144 d) 11220
Ty R

7]
) g

PnC (combi)
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78

165)  IQ)
%7( 7,2 ¥
‘5C3 x Cs =10x2[= 2/0

In an examination, a question paper consists of
12 questions divided into two parts i.e., Part |
and Part I, containing 5 and 7 questions,
respectively. A student is required t
guestions in all, selecting at least 3 from each
part. In how many ways can a student select

5C x—lcq_- 5%%5= 175 the questions ?
” oot 5t 7 e 19 a1 4ot 3 P
_ _ oc HHA 5 AT 7 W
S ¥ 1,7 IX35% D5 ¥t Gs 1 st s 1. v Rl @y
> Y20 va% @5 ¥ ~gaaH 3 Uedl HT TIT A
gU el 8 UW H gA HGAT & TH
gt fFaa 9eR @ weaAl FT 99T FW
Akl 87
A 420 b) 240
c) 360 d) 280

PnC (combi)




(i) qquc = Ux|26= S04

axx?uef
P E
i q - 59
(r) "'c.?)xc = ‘1>
yX o
1 q
) “Cax Cy =12 ¢=Spy
% X e
2 5 =6X126=716 6
( X (

PnC (combi)

.

A committee of_7 has to be formed from 9
boys and 4 girls. In how many ways can this
be done when the committee consists of:

(i) exactly 3 girls ?

(ii) atleast 3 girls ?

(iii) atmost 3 girls ?

9 os% 3T 4 =fFAl @ 7 weEAt Y
tF TR T e § g Fad TR @
fFar s oawar 8, JefF wfafa
(i)az-qr-r:3a3ﬁrq¥§%?

(i) 71 d 3 rsfhar 2

(iii) 3THaH 3 aSfHAr §2

AN
Mx Y =33¢

1632
| | 10




80. The English alphabet has 5 vowels and 21

sv 2lc¢ consonants. How many words with two
different Qvowels and 2 C different
5c . x ZIC X ML consonants can be formed from the
2 2 alphabet ?
FIS FofaATer FH 5 T aur 21
= |oxalXfox Yy el ¢l 9 oAt ¥ 2 e =
Z IR 2 B Io=t g e sl
FY TFAT HT AT FFA 87
= a) 40500 b) 50600
90400 c) 40600 /jf 50400

PnC (combi + arrange) | | 11



PnC (combi misc)

8l. Manisha types a 5|x digit number

but thet\/ped by her are

not visible. The number that
appears is 5005 . How many
different six-digit nuMs can
there be?

S OF A A TF FqEAT
<Y & JAfFd 3¥F gaRT TB/Y
Pr s @ 4 a8 RE W@
fewr$ &t arehr @war 5005 @)
oF 3Pl I haelt Fea FEaw
& F&dl 87
a)9 b) 10

15 d) 12

12
| AWO-TPO 2022 $3, 27 Oct zozzl



82.In how many ways can a

committee of 5 persons be made
from AB,C,D,E F,G and H
such that if B is selected then A

e ——
is also selected?

JZO b) 2
41 d) can’t say




J % 6, 65 _
DC —> Cy= 2"
u

5 ;7(.:{: 20

23. In how many ways can a
committee of 5 persons be made
from A,B,C,D,E,F,G and H
such that[ﬁD is selected then C
should not be selected?)

A B, C,DEFGS3ITH®#
¥ fhaa 9HR & 5 gfFaar
N AT T o FHEAT &
arfe Ife D +1 TIT & A ¢
ST IIT T 817

a) 30 Bl 36

c) 45 d) 56




Z4.In how many ways can a

committee of 5 persons be made

from AB,C,D,E,F,G and H

A\/ 665 =40 such that A will be selectec‘ if and
only if]B is selected?

—+ A B,C,D, E F,G3THH

S0 3 5 waiFaat & ey e

6c_ = ¢ YHR ¥ d1E S FHdl ¢ arf

=R 3 Faa TR B FT TS

el WA A T Taa fFar

STT?
a) 120 Jza
c) 36 d) 56




PnC

85. From a class of 25 student, 10 are to be

chosen for an excursion party. There are 3
students who decide that either all of them
will join or none of them will join. In how
many ways can the excursion party be
chosen?




86. What is the number of integral
(l ) 0O solutions for the equation
o place % 2745, X " la| + |b| + |c| = 27?

T |a| + b T |c| =27 &
) X26C] x4 =326xY= 31 2 g 8w

m g7 .
Ql ) O O _ a) 2727 //t/r2918
-p’a&x’ﬂ MS v Sa" c) 2048 d) 2024
3 x | x2 = @ Divedt frvmida
ay 2
) 222> 243 \“\*\b\ﬂq
T dis %“6"‘ Am = UuP’sa
A6 _ ‘n’ identical objects can be distributed to ‘r’
C X 3=2660 persons, such that each one of them receives at
26 XWX least one item, in (n — l)c(r_l)ways.
/Z

PnC (m iSC) | AWO-TPO 2022 $3, 28 Oct zozz| 17



o dcl (22) even (Zl) 87. How many different pairs (x, y)

0t0 e+@e
L
x 9
7 Q) vok |54'4 Sovaws
Zgl ‘a ]
24 30 |3 20
19
] 1
T 215+ \0

PnC (Misc)

can be formed using the
numbers {1,2,3,...,43} such
that x < y and the sum of x
and yis even ,2,%, . --;”é

wearst  {1,2,3,..,43} &I
39T FF  fFaa R

IH (x,y) qAC ST T &,
fFx<y@yaur x 3k y

FT IR TH gI?
a) 420 b) 451
441 d) 460

| | 1
AWO-TPO 2022 S3, 27 Oct 2022 8
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